Entry 2: Approximate by rounding to the nearest 10
and 100 and use this rounded answer to check results

1. Fatima received a salary of £76 the 1st week and £92 the
2nd week. How much did she get in total? Check your
answer using estimation.

2.Jade spent £81 the 1st week, £19 the 2nd week, and £55
the 3rd week. How much did she spend in total? Check
your answer using estimation.

3. Fill in the gaps in the table below:

Lo ible whol Hi i |
west possible whole Rowdkad nisabat ghest possible whole
number number

55 60 tothe nearest 10 64

30 to the nearest 10

4.Jade rounded 30 to the nearest 10. Here is her answer:

30

Is Jade correct? Explain your answer.



5.Round 43 to the nearest 10. ............
Round 78 to the nearest 10. ..........
Round 4 to the nearest 10. ............
Round 95 to the nearest 10. ............



